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QUESTION 1
The following is a description of how BFD sessions are established, which is the wrong one

A. The system distinguishes between static BFD sessions and dynamic BPD sessions by dividing the identifier area
Dynamically assign this landmark identifier

B. BFD sessions can only be established dynamically

C. Static configuration of BFD session refers to manual configuration of BFD session parameters through the command
line, including local identifiers and remote identifiers

Correct Answer: C

QUESTION 2
Regarding route introduction, what is the following description of the error?
A. BGP supports both import and network when generating routes, and the network mode is more precise.

B. By default, OSPF introduces an external route with a default metric of 1, and the level-2 network of the ingested
external route type type, Type2

C. ISIS, routes to Level After the 1 makes a route ingestion, if you do not manually configure the ingestion policy, a bad
route will be formed.

D. Introducing IBGP routing in OSPF may cause routing loops

Correct Answer: C

QUESTION 3

A VRRP virtual router configuration VRID is 3 and the virtual IP address is 100 1. 1. 10, so what is the virtual MAC
address?

A. O0-00-5E-00-01-64
B. 01-00-5E-00-01-03
C. 01-00-5E-00-01-54
D. 00-00-5E-00-01-03

Correct Answer: D

QUESTION 4

LDP messages are exchanged between LDLRs running the LDP protocol, and LDP messages can be divided into four
types according to function, which of the following is not an LDP message type ?
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A. Advertisement message

B. Discover message

C. Conversation message

D. Label Exchange Information

Correct Answer: D

QUESTION 5
For Layer 2 VPN technology, the following statement is correct?( Multiple choice questions).

A. VPLS is a widely used technology in the live network, which can provide transparent transmission of three-layer
messages and achieve multi-point access.

B. The VPLS configuration is complex and the Layer 2 network transmits BUM packets.
C. BGP EVPN supports features such as tenant isolation, Multi-homing , and broadcast suppression.
D. BGP EVPN addresses issues such as MAC address drift and multi-tenancy that VPLS cannot support.

Correct Answer: BC

Latest H12-891 Dumps H12-891 VCE Dumps H12-891 Exam Questions

Latest H12-891 Dumps | H12-891 VCE Dumps | H12-891 Exam Questions 3/3


https://www.passapply.com/h12-891.html
https://www.passapply.com/h12-891.html
https://www.passapply.com/h12-891.html
http://www.tcpdf.org
https://www.passapply.com/h12-891.html
https://www.passapply.com/h12-891.html
https://www.passapply.com/h12-891.html

